



Vendor Ranking

Page 1 of 1

Letting: 03191010 October 10, 2019 02:00 PM **Call Order:** 009 **Contract:** E3T14-R0

District: District 3 Counties: LEON Fed Aid No: N/A

Contract Time: 12/31/20 COMPLETION DATE

Project(s): 42378127227 (*)

Contract Desc: DISTRICTWIDE BDI PROJECTS - ROUTINE MAINTENANCE

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	COLLINS LAND SERVICES, INC.	Responsive	Winning bid	\$95,160.00	100.00%
2	GREEN MAINTENANCE AND CLEANING	Responsive	Non-Winning Bid	\$98,215.00	103.21%
3	A1 PREMIER PRESSURE CLEANING SE	Responsive	Non-Winning Bid	\$151,485.00	159.19%
4	T & M LAWN-FENCE SERVICE INC	Responsive	Non-Winning Bid	\$161,540.00	169.76%
5	GASKIN CONTRACTORS LANDSCAPE DI	Responsive	Non-Winning Bid	\$318,604.00	334.81%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes. NOTICE OF INTENT TO AWARD: AWARD AND EXECUTION CONTINGENT UPON BUDGET AVAILABILITY





Tabulation of Bids

Page 1 of 5

Letting: 03191010 October 10, 2019 **Call Order:** 009 **Contract:** E3T14-R0

District: District 3 Counties: LEON Fed Aid No: N/A

Contract Time: 12/31/20 COMPLETION DATE Project(s): 42378127227 (*)

Contract Descr: DISTRICTWIDE BDI PROJECTS - ROUTINE MAINTENANCE

The Improvements under this Site-specific Contract consist of routine landscape maintenance at two (2) locations along SR 8 (Interstate 10) in Leon County; one at Interchange 196 (SR 263, Capital Circle Northwest) and the other at Interchange 199 (SR 63/US 27). In an effort to improve and maintain the overall condition, activities may include but are not limited to; mowing of turf on shoulders, in pond bottoms, on slopes; maintenance of Manual Turf Management areas such as young planted/established pines and steep slopes to include removal of undesirable undergrowth including woody underbrush, fallen limbs; and litter removal of all unpaved surfaces within the right of way. Work activities and locations will be specified by Work Document. Landscape installation plan sheets are included in the Appendices for information only. Maintenance of Traffic and Mobilization are incidental to the pay items listed.

A Business Development Initiative reference sheet is required to be submitted with Bid Documents.

BUSINESS DEVELOPMENT INITIATIVE -- Bidders must be a "Small Business" as defined by

FDOT. Small business size standards can be found at http://www.fdot.gov/equalopportunityoffice/bdi.shtm. For more information about bidding on BDI projects, please see the training guide located at http://www.cmdp-bgp.com/bdi-projects.html Prequalification per Rule 14-22 is not required. Bidders must complete and submit the Small Business Affidavit (Form No. 275-000-01) for approval prior to receipt of bid documents. The form may be accessed at: http://www.fdot.gov/contracts/forms/forms.shtm It is only necessary to submit the Small Business Affidavit (SBA) form once per year. Send a completed and notarized affidavit as an attachment to: fdot.bdi@dot.state.fl.us. All Sublet work must be contracted to a small business or businesses as defined by the Department. The subcontractor must also submit a notarized Small Business Affidavit Form provided by the Department prior to the start of work. Bidders must submit the BDI Reference Sheet (Form No. 275-000-02) with the bid unless bidder is prequalified in the projects major work type, per Rule 14-22, Florida Administrative Code. Upload the completed BDI Reference Sheet (Form No. 275-000-02) as a zip file using the "File Attachment Upload" folder in the Expedite application. BDI Reference Sheet may be found at: http://www.fdot.gov/equalopportunityoffice/bdi.shtm Proposal Guaranty of \$500 is required for bids over \$150,000 and may be in the form of a Cashiers Check, the BDI Bid or Proposal Bond (Form No. 375-020-16), or the standard Bid or Proposal Bond form, Form No. 375-020-09). A Contract Bond is not required for contracts \$250,000.00 and less.

Line No / Item ID Alternate Quantity Item Description Units		(1) COLLINS LAND SERVICES, INC.		(2) GREEN MAINTENANCE AND CLEANING		(3) A1 PREMIER PRESSURE CLEANING SE	
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 SLOPE	E MOWIN	IG (AC)					
0005 0580 8 10 1,50	00.000	5.00000	7,500.00	5.35000	8,025.00	4.99000	7,485.00
LANDSCAPE- TREE PRUNING/TRIMMING, MANUAL, 1 TO 8" DBH	EA						



Page 2 of 5

151,485.00

Florida Department of Transportation



Contract Grand Totals:

Tabulation of Bids

MOWING (SLOPE) AC 0015 E104 4 4 4 670.000 MOWING (INTERMEDIATE MACHINE) 39.00000 26,130.00 45.00000 30,150.00 100.00000 67,000.00 0020 E104 50 WEED CONTROL MANUAL 36.000 AC 35.00000 1,260.00 45.00000 1,620.00 1,000.00000 36,000.00 0025 E110 30 1,680.000 LITTER REMOVAL 1,680.000 AC 22.50000 37,800.00 9.00000 15,120.00 5.00000 8,400.00 030 E580 3 1 100,000.000 LANDSCAPE MAINTENANCE (WEED REMOVAL, MANUAL) SF 0.06000 6,000.00 0.13000 13,000.00 0.10000 10,000.00 0035 E580173 50,000.000 BED PREPARATION & MULCHING SY 0.12000 6,000.00 0.40000 20,000.00 0.10000 5,000.00 0040 E580336 14 4 40.000 PRUNING AND TRIMMING (PALMS) EA 75.00000 3,000.00 50.00000 2,000.00 2.000.00 25.00000 1,000.00	Letting	g: 031910	10 Oc	ctober 10, 20	19 Cal	l Order: 009		Contract:	E3T14-R0	
O indicates item is bid as Lump Sum			Alternate	-						
0010 E104 4 2 166.000		•	mp Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
MOWING (SLOPE) AC 0015 E104 4 4 4 670.000 MOWING (INTERMEDIATE MACHINE) 39.00000 26,130.00 45.00000 30,150.00 100.00000 67,000.00 0020 E104 50 WEED CONTROL MANUAL AC 35.00000 1,260.00 45.00000 1,620.00 1,000.00000 36,000.00 0025 E110 30 1,680.000 LITTER REMOVAL AC 22.50000 37,800.00 9.00000 15,120.00 5.00000 8,400.00 0030 E580 3 1 100,000.000 LANDSCAPE MAINTENANCE (WEED REMOVAL, MANUAL) SF REMOVAL, MANUAL) 0.06000 6,000.00 0.13000 13,000.00 0.10000 10,000.00 0035 E580173 50,000.000 BED PREPARATION & MULCHING SY 0.12000 6,000.00 0.40000 20,000.00 0.10000 25,000.00 0040 E580336 14 4 40.000 PRUNING AND TRIMMING (PALMS) EA 75.00000 3,000.00 50.00000 2,000.00 2.000.00 25,000.00		SECTION: 0001	S	LOPE MOWIN	IG (AC)					
MOWING (INTERMEDIATE MACHINE) AC 0020 E104 50 36.000 35.00000 1,260.00 45.00000 1,620.00 1,000.00000 36,000.00 WEED CONTROL MANUAL AC 22.50000 37,800.00 9.00000 15,120.00 5.00000 8,400.00 LITTER REMOVAL AC 0.06000 6,000.00 0.13000 13,000.00 0.10000 10,000.00 LANDSCAPE MAINTENANCE (WEED SF REMOVAL, MANUAL) SF REMOVAL, MANUAL) 0.12000 6,000.00 0.40000 20,000.00 0.10000 5,000.00 BED PREPARATION & MULCHING SY 75.00000 3,000.00 50.00000 2,000.00 25.00000 1,000.00 PRUNING AND TRIMMING (PALMS) EA FA.00000 50.00000 2,000.00 25.00000 1,000.00					45.00000	7,470.00	50.00000	8,300.00	100.00000	16,600.00
WEED CONTROL MANUAL AC 0025 E110 30			MACHINE)		39.00000	26,130.00	45.00000	30,150.00	100.00000	67,000.00
LITTER REMOVAL AC 0030 E580 3 1 100,000.000 0.06000 6,000.00 13,000.00 13,000.00 10,0					35.00000	1,260.00	45.00000	1,620.00	1,000.00000	36,000.00
LANDSCAPE MAINTENANCE (WEED REMOVAL, MANUAL) 0035 E580173 50,000.000 0.12000 6,000.00 0.40000 20,000.00 0.10000 5,000.00 BED PREPARATION & MULCHING SY 0040 E580336 14 40.000 75.00000 3,000.00 50.00000 2,000.00 25.00000 1,000.00 PRUNING AND TRIMMING (PALMS) EA				, i	22.50000	37,800.00	9.00000	15,120.00	5.00000	8,400.00
BED PREPARATION & MULCHING SY 0040 E580336 14 40.000 75.00000 3,000.00 50.00000 2,000.00 25.00000 1,000.00 PRUNING AND TRIMMING (PALMS) EA	LANDS	CAPE MAINTENANC		, , , , , , , , , , , , , , , , , , ,	0.06000	6,000.00	0.13000	13,000.00	0.10000	10,000.00
PRUNING AND TRIMMING (PALMS) EA			CHING	, i	0.12000	6,000.00	0.40000	20,000.00	0.10000	5,000.00
0001 SLOPE MOWING (AC) Section Totals: \$95,160.00 \$98,215.00 \$151,485.00			(PALMS)		75.00000	3,000.00	50.00000	2,000.00	25.00000	1,000.00
	00	01 SLOPE MOWING	(AC) Sec	tion Totals:		\$95,160.00 [°]		\$98,215.00		\$151,485.00

\$95,160.00

\$98,215.00



Page 3 of 5

Florida Department of Transportation



Tabulation of Bids

Lettin	g: 03	191010	October 10, 20	19 Cal	l Order: 009		Contract:	E3T14-R0	
	No / Item ID Description	Alternate	Quantity Units	(4) T & M LA SERVIO		(5) GASKIN CO LANDSO			
	dicates item is bio	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	SLOPE MOWIN	IG (AC)					
_	0580 8 10 CAPE- TREE NG/TRIMMING,	MANUAL, 1 T	1,500.000 EA O 8"	5.00000	7,500.00	40.00000	60,000.00		
0010 MOWIN	E104 4 2 IG (SLOPE)		166.000 AC	100.00000	16,600.00	65.00000	10,790.00		
0015 MOWIN	E104 4 4 IG (INTERMED	IATE MACHIN	670.000 (E) AC	100.00000	67,000.00	65.00000	43,550.00		
0020 WEED (E104 50 CONTROL MAN	NUAL	36.000 AC	1,000.00000	36,000.00	45.00000	1,620.00		
0025 LITTER	E110 30 REMOVAL		1,680.000 AC	8.00000	13,440.00	20.80000	34,944.00		
	E580 3 1 CAPE MAINTE /AL, MANUAL)	NANCE (WEE	100,000.000 D SF	0.10000	10,000.00	0.53000	53,000.00		
0035 BED PR	E580173 REPARATION 8	MULCHING	50,000.000 SY	0.20000	10,000.00	2.25000	112,500.00		
0040 PRUNIN	E580336 14 NG AND TRIMN	/ING (PALMS)	40.000 EA	25.00000	1,000.00	55.00000	2,200.00		



10/31/2019

Tabulation of Bids

Page 4 of 5

Letting:	03191010	October 10, 20	19 C a	all Order: 009		Contract:	E3T14-R0	
Line No / Item ID Alternate Quantity Item Description Units			· · ·	(4) T & M LAWN-FENCE SERVICE INC		(5) GASKIN CONTRACTORS LANDSCAPE DI		
() indicates ite	em is bid as Lump Sun	m	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 SLOPE MOWING (AC) 0001 SLOPE MOWING (AC) Section Totals:				\$161,540.00		\$318,604.00		
	Contract (Grand Totals:		\$161,540.00		\$318,604.00		



10/31/2019

Tabulation of Bids

Page 5 of 5

Letting: 03191010 October 10, 2019 **Call**

Call Order: 009

Contract: E3T14-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.